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1. A={a, b, p}, B={2, 3), C={p, q, 1, s} a&fleb. n[(AUC| x B] )
(=) 8 (<) 20 (@) 12 () 16
A={a, b, p}, B={2, 3}, C={p, q r, s} then n|(AUC) xB] is :
(a) 8 (b) 20 e) 12 (d) 16

2. n(A)=p, n(B)=q eaild A -OSmbs B -66 doLsEb Qurgs e paysdda
el Gswnang)

(=)0 (24)1 (@) 2r-1 (m) 2Pa

If n(A)=p, n(B]=q, then the total number of relations that exist from A to B is

(a) O (b) 1 () 2P9-1 (d) 2ra

3. F,;=1,F,=3 wpgb F, =F,_,+F,_, aas Asr@&ssuuger Fs a1 -
(=) 3 ()5 (@) 8 (rr) 11
Given F, =1, F,=3 and F,=F,_,+F,_, then, Fg is :

(a) 3 b) 5 (c) 8 (d 11

4. ), by ty e aanug @@ sl (s Asri cuflens arafld tg, tp Ligs - eTemug)
(=) @M QumEEs Qs auflas
() @@ 805 Az aflos
(@) 90 & (s Asmii aflasywan, QumsEs Csmi auflengwjwéven
(m) @m wrhlds Gsri auflens
If the sequence t), t;, ty ...... are in A.P., then the sequence tg, t)g, tig, oo is :
(a) a Geomelric Progression

(b) an Arithmetic Progression

(e) neither an Arithmetic Progression nor a Geometric Progression

(d) a constant seguence

www.TrbTnpsc.com

3 6822
3y-3  Ty-7 :
-'—-—-+—QT GTETLIg)
Yy K7
9y 9y°
) = .
(s) 7 ) s
21y? — 42y + 21 7(y? - 2y + 1)
{@) 3y3 [IT} ___7._—
3y73+?y_7 is :
) Byz
9 3
(a) 7_:; by —2Y
21y - 21)
© 2142 - 42y + 21 i 7(y? -2y + 1)
3y3 ”2

@ QL SLETUM R uaTULb GE
(1) Cor&Can®  (<8,) aul_Lib (@) urewenarwid () FureuenaTwid

Graph of a Quadratic equation is a

(a) straight line (b) circle (c) parabola (d) hyperbola

E = E @ﬂ 3 T H Y :
DE _ Fp 9@, AABC wpgw AEDF auburysg ey@erssmewuns
Sienowjo ?
(=) B=|E () A =D (@) B=DD (") 1A=IF
If in triangles ABC and EDF, —S—E = % then they will be similar, when :
D
(a) [B=|[E (b) [A=[D (cj B=[D - (d) |[A=[F

[ @Liys / Turn over

' |
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13. @iludL grayl yéraflsafldn sBse whmio symsfl @fiumea penmCu 407 WDHIHID
11 eraflé, grays yeraflseflen et G ensImeng) -
(=) @wwib () GarGuaef (o) 37 (<) 4477 (@) 39

8. alLsfar OsrHCHTHL BT TP QstEssTs @D GLb :

(rr) 418

A t ent I‘ = ] )t th L} obECIVa[lonS m t_ht‘_' data are [

'

an nt ol a Cle e dlCI.J. ar to € Iadl‘l.‘.ls at Ihe .
B cr 15 p T'pen

(a) cenire point of contact

: : (d) chord . . . . .
(c) infinity 14. éa,rmﬂcu paHIseT fa, b, . ..., z} -QS]@!E@ R (LS FLOGUMUILIL mep_)uﬁ]qi) Ggfrgq
Ceuwuu@dng. ey awss x -6@ whosu TWsysdd paprs
9. xBiEsEE Asu@asns e der CrraGar_gen smiey : @muusnsnen flapsse, -
(@) 1 ()0 (@) = ™. ta 22 (o) L 23 3
The slope of the straight line perpendicular to x-axis is : <! 13 ) 13 (&) 26 () 26
o = dy -1 If a letter is chosen at random from the English alphabets {a, b, ....., z}, then the
(a) 1 b O () probability that the letter chosen precedes x :
; ; 12 1 23 3
10. sin8=cosd crafléy 2tan26+sin8—1 -ar WAL : (@ 13 (b) 3 (c) o (d) T
-2
3 -3 2 e
(=) 5 (=) - (&) 3 L
; ; u -IOI/PART -1
If sinf=cosf, then the value of 2tan20+sm28—1 is : : . . (GE /
. @Iy : amaCugib 10 danss@se am walssab. e aar 28 -&@E
3 -3 2 ) —= sLLmuwns e wellssab. 10x2=20
2 Note : Answer any 10 questions. Question No. 28 is compulsory.

11, &7 5 Gs.15 whpib smuud 13 0618 2w GpieuL b sbAdr 2Ly | 15. BxA={(-2,3), (-2, 4),(0,3), (0, 4], (3, 3), (3, 4)} crale> A OO B @yBucupepi

(1) 12 Q5.8 (=) 10 Q.8 (@) 13 Q&8 () 5GQsb B1GHTS,

The height of a right circular cone whose radius is 5 cm and slant height is 13 cm I BxA={(-2, 3), (-2, 4), (0, 3), (0, 4), (3, 3), (3, 4)} find A and B.
will be :

{a) 12cm (b) 10 cm (c) 13cm (d) Scm 16. fof(k)=5, flk)=2k~ 1 arafléb, k -an wdlieus srems.

Find k if fof(k)=5 where flk)=2k-1.

12. swwren 9L Lb LHHL WD 2L W @i e e, @ by LHD @

Garaisden san erasafien efldgw : 17. x+§, x+ 12 Py x+ 15 eranuen g QU@EBEGS Asmi auflersulen Qgriédfwmen
(4)1:2:3 ()2:1:3 (@) 1:3:2 () 3:1:2 apem 2 muyser erafle, x -an wHlwLE SnaRs.

The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same Find x so that x+6, x+12 and x+ 15 are consecutive terms of a Geometric
diameter and same height is : Progiession.

(a) 1:2:3 by 2:1:3 ey 1:3:2 (d 3:1:2

[ Smuys / Tumn over
|

|
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18.

19.

20.
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6
T x+2 x2-x-6
@@ 4y = 12y2
x+2 x2-x-6
Simplify : +
B 4y 1242

Qéneumid GHuins Fwemumgan gponsatien SETEHWENILIS HTEHTE.
2x2-x-1=0
Determine the nature of roots for the following quadratic equaton.

2x2-x-1=0

ULSSd AD erenug £BAC -wlen @men@aUligwn@Ld.
AB=10 Q&8

AC=14 Q&.5 wHmbd

BC=6 Qg8 crafié), BD wpmid DC-p& &Tews.

C

D
6 Q&.15
In the figure AD is the bisector of ZBAC, if AB=10 cm, AC=14 cm and BC=6 cm.
Find BD and DC.

A
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21. @m Yoar xy saighle (-6, —4) aenp Leaflufled 2 amengy. (5, 11) eremm yerafluley

22.

23.

24.

25.

26,

SO LT Yo dadsLul Qg ymar W86 GUAU giri Lwaflggo L
2®H5 HGLydng ceafle, Lt LBEWSHGS Csmeaiwunar uramg@en
FOAUM_EL & ST,

A cat is located at the point (-6, —4) in xy plane. A bottle of milk is kept at
(5, 11). Thg cat wishes to consume the milk travelling through shortest possible
distance. Find the equation of the path it needs to take the milk.

12y= - (P+3)x+12, 12x-7y=16 gydlw CrrsCenBsdr gamsdsndny Askess)
arafl@, P -uller bfleous srans.

If the straight lines 12y=—(P+3)x+ 12, 12x—7y=16 are perpendicular then
find P

secB _ sinf

= cotd aranueng Hlem9sse, .

sinf cost
sech sinf

Prove that —— — = cotf .
sinf cosh

fggraans Caram® 7 S @urapib, 24 B o wpaph 2 e G sby GUlg @S Sl MLD
e paurssLLSIDg. Geias agais Hssraflar sswb 4 8 aalld, oisd Bemb
ETems.

The radius of a conical tent is 7 m and height is 24 m. Calculate the length of the
canvas used to make the tent if the width of the rectangular canvas is 4 m.

@@ Camamiuseflar gyrhsdr s 4 : 7 erafler Sieuhdler san Zeregaten afdlgn
SNeiTs.

If the ratio of radii of two spheres is 4 : 7, find the ratio of their volumes.

CarRésuul L syl Laafserée eiés wpmb 65558 QH(paeus Erams.
63, 89, 98, 125, 79, 108, 117, 68

Find the range and co-efficient of range of the following data.

63, 89, 98, 125, 79, 108, 117, 68

6822
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27.

28.

@y : amatugb 10 damss@sd Hlen_wellGsayn. elenn e 42 -&&

Note :

29.
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8

A wpmv B 8w @m aramougmyise IT -fé Csrappsnas fﬂéﬁwuumﬁadr‘
Qaisde A Coisap@asuLpashsTe Hapssel 05, A LODD B @oaucd
CsrpQs@ssuuPaspsnen Hspssay 0.3 e, B Garp@s®ssuubeausgpsnen
=fsuls fspssa 0.8 aan Hemdssan

ceking admission to IIT. The probability that A
probability that both A and B getting selected is
s at the most 0.8.

A and B are two candidates §
getting selected is 0.5 and the §
0.3. Prove that probability of B being sclected i

p?xql xré xs7=3,15,000 er@pRIT S el p, q, 1 LHHID s AuaDHE

wflysaes snams

If p? x ! xr* xs3=3,15,000 then find p, q, 7 and s.
u@$ - I / PART - I

s__Lmuwons cdleweli&seyd 10x5=50

Answer any 10 questions. Question No. 42 is compulsory.

f: A - B aaip smnuneng f(x) =§ -1, e werunssiuGEngy. @G

A=(2, 4, 6, 10, 12, B={0, 1, 2, 4, 5, 9} 286 Q&G Cung &y f -8 \Gemeu(mid
wapsafia Ghésayo.

(i) euflens Gemgsafien semrd (i) <L Leuenemm

(iti) SHby&EGH UL (iv) euenyuULLD

Let f: A — B be a function defined by f(x) = fé ~ 1, where A={2, 4, 6, 10, 12},
B={0, 1, 2, 4, 5, 9) Represent [by :

set of ordered pairs (i1) a table

(i)

(i11) an arrow diagram (iv) a graph

Kindly Share Your Study Materials to O
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30. 9m -Op@eﬁ'lg;mm SRsE@ES | apgpd 49 ey Agr_féflunss sgelessn
mgm&_uut'_@aﬁm@ QAepfdlen oy paasrs o erer dHaafian
sgeﬁ'lmas_srmmﬂér &L(p Agrensuneany Qsphdlan S igh@l Deanengns o rar
d@safiear sselwssnsaian SLDs Asrasims son aafila Qephdar i (Ha
sgailasssass snams.

The houses of a street are numbered from 1 to 49. Senthil’s house is numbered
such that the sum of numbers of the houses prior to Senthil’s house is equal to

the sum of numbers of the houses following Senthil's house. Find Senthil's
house number,

31. 5+55+555+.... aap Agm_rreuflensulien pse n e puyselan sBaed srans.
Find the sum to n terms of the series 5+55+555+ ...,
32. Spssrgp epeny wnflaafle Adwhs eomruseow Cplud sovauri@s
Qsmguysamer Eisa,
3y
x+20= = +10=2z+45=1 10— (y+2)
Solve the following system of linear equations in three variables,
3y
x+20=?+10=22+5=110—(y+z}
a3 5 29 @ : 'r ) )
- A=l 5 g/ B=|1 2| aale (AB)T=BTAT aaumss sllunissen.
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35.

36.

37.

38.
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P BT @erGeuafudes ‘a’ B wPmd b’ BLLIT Lmq@mm.@ﬂ"’"—“f UQ_IH::;TE
e drerar. gremsafian o &MIHhE THGITa gramsafian eSO g

ab_ e i garues Hepdasaid
a+h

Gan(pser spdaEn yeralubien e wroreng

i : hat the
Two poles of height ‘a’ metres and b’ metres are P’ metres apart. Prove th

i L to the
height of the point of intersection of the lines joining the top of each pole

ab
foot of the opposite pole is given by avb metres.

Caremr @msw@aly Geppsms aws Hmdsaed.

State and prove Angle Bisector theorem.

R 3 T
8, 6) (5, 11) (=5, 12) wipmb (-4, 3) &u ydalsmar o@saTs el
prpsrsHen LTLMUS STETS.
Find the area of the quadrilateral formed by points (8, 6) (5, 11) (-5, 12) and

(-4, 3).

7x-3y=—-12, 2y=x+3 HHw CpraCaenfsar HE &G0 usimﬂl afl Gsdeugid
X-oi666@ Geanunaguona Gri&Gami.en FLETUNL L & STETs.

Find the equation of a straight line parallel to X-axis and passing through the
point of intersection of the lines 7x—3y=—12 and 2y=x+ 3.

S somsmT elaTéssdd 2 589 (mHg THGTST ue'se?;re'usmﬂai'a o _gram @nrmr@
sLLGEE 30° LHmL 60° @néss Cramssle urrr'ré;&uu@@ar-rr,r)s?t. SOEEDY
alaraagSen e wrb h 5. Q@ sUL@SeT WHMID &ssuréu&slrm;r a&]mfsa;g,g,]@ afu}uu@.g,@
afume Gy CprsGariye smwdaner aald, @rarh sUULEERSSG

@e LUl L GOzTemaey %_2— 5. et Hem9asayn.

From the top of a lighthouse, the angle of depression of two ships on the oppgsitte'
sides of it are observed to be 30° and 60°. If the height of the llghthpuse is 'h
metres and the line joining the ships passes through the foot of the lighthouse,

4h
—= m.

NE

show that the distance between the ships is

39.

40.

41.

42,

www.TrbTnpsc.com

The radius and height of 5 cylinder are in (he rati
I ratuo
area is 5500 sq.cm. Fing its rading and height

j?:;j;j Sﬁ“ﬁﬂ aﬂgwagm@ 190 BUITSGN BiGaIEHE O nirid Srewadipri.
poet ﬁm@méﬂi@% 5 6oy relg10 Cpeh mivl aipelgii odrarg,

Y 7 SUUGS ugiyt 40 5.8 srpm -
ELTTES ©COMId 2 1 8 15 erfiey s 9 au;bni?;fgmmuu@ﬁw'
Arul has to make

arrangements f : _
family function. For this purpos or the accommodation of 150 persons for his

cylinder surmounted by g €, he plans to build a tent which is in the shape of
d and 40 rone. Each person requires 4 sq.m. of the s
ground an Cu. meter of air tg sty pace on

breathe. Fi ; . -
the tent il the height of cylindrical pajt i: Szﬂd the height of the conical part of

@ran(® Frmer Lse gen Y@pwns @Gy Crrsdd o mi L Liu@dempen.
1) Gren® usmsafigi 2Crys vduy deLss

(ii) op&s wdlyseian QukssHLET LaT eraram e fesa

liii) & wHLysaian a6 LsT raramis fo ss

(iv) & AOYsHE smpsd 1 -5 E\Mmés

28w flspsdsalan Aspssasmans smans.

Two unbiased dice are rolled once. Find the probability of getting :
(i) a doublet (equal numbers on both dice)

(1) the product as a prime number

(i) the sum as a prime number

(iv) the sum as 1

A=xeW/x<3}, B={x=N/l<xx5) wHmb C={3, 5, 7) msnﬂéoAx(Euc)=(AxB)U(AxC;
aerueng sNumiéseib.

Let A={xeW/x <3}, B={xeN/1<x<5} and C={3, 5, 7}
AX(BUC)=(AxB)u(AxC).

verify that
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ued IV / PART . IV
SOUY . smenggy oflemineskmn ofovLedksab 2x8=16
Note : Answer all the questions

Q. (@)2 Qs ! yryee aLb aeipy sgd eougddmpy 11 @ \5
Qﬂ-"mﬂ‘ﬂﬂﬁm @ ud'lﬂﬁmuaﬁ {‘.!,ﬂm ,ﬂtjuﬁﬂﬂugdqimm;ﬂ NLI#QB}@
Blram® QanHCanrBed crens
Ho0gy

() Sy uuksd BC=8 QB ZA=60" vhppgo ZA -dé Qm swdalygurag
BC g D eap yaeflle BD=6 Qs & aapanry spdésdpg araflen,
w&Ganamib ABC suenns

(a) Take a point which is 11 cm away from the centre of a circle of radius 4 cm
and draw two tangents to the circle from that point.

OR

(b) Draw a triangle ABC of base BC=8 cm, ZA=60° and the bisector of ZA meets
BC at D such that BD=6 cm.

44, (=) aiafsn QaciGan Seraseaiid 6 L ks warpsndr. oL e
e arerauny, gaGanm el e AL sHD@Eb. Hgan sHparelip@n e
Canprug Qen_iusE ¢m aweruLb woeruab. goa Ll
fli__wreng 6 Qs b a8 @mEsL Cung L ghan sppaTenad &rams.

el (x) Gla.b ] 2 3 4 S
&(Hmeney (y) Qa.B 3.1 6.2 9.3 12.4 | 15.5
SIVVS
(&) y=x7—5x-6 -@ QUL a@Ibs. AsdaL Lwau@ss x*—5x—14=0
aranp swanun e $ Sidseb.
(a) Varshika drew 6 circles with different sizes. Draw a graph for the relationship
between the diameter and circumference (approximately related) of each

circle as shown in the table and use it to find the circumference of a circle
when its diameter 1s 6 cm.

Diameter (x) cm 1 2 3 + S
Circumference (y) cm | 3.1 6.2 9.3 12.4 | 155
OR

(b) Draw the graph of y=x°-5x-6 and hence solve x*-5x-14=0,

-000-
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